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EX,SESAARTAXTH HOLLT K.

2. HMEW) WAALFNIHAERAGRAAKA X, £/
EHRANEZAR EXFH 0 FLEIAFZFSHBARB.

HBRR AP EFNETHANRAEAMALE L RIT,
GEAARARX  NER A ALAPEENEZAREAEHANR
RoNFBFEERANERTERA XELA %,

LR MEE, ATREEANSFNEFAFABHFIHY
HF, o TRFEEFIFTHER  EMASTH+ 2R E4X
M ALHAREMNETS XA AXAREXAHNEFZHUARK
SR UK G BRE WA, F . effect § effect; adapt 5§ adopt % %,
FAAENEREF AR I L RANNER EXEHAXAE
EXLAZHE WAL RPHE A HANETEA Lo ENER. 2
W & AUARERNAEFE.
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Model Test 1

Directions : There are 30 incomplete sentences in this part. For each
sentences there are 4 choices marked A), B), C) and

D). Choose the ONE answer that best completes the
sentence. Then mark the corresponding letter on the

Answer Sheet with a single line through the centre.

. It is thought that two fingerprints are identical.
A)nor B) none
C) never D) no
. T couldn’t find , and so I took this one.
A) a large enough coat B) an enough large coat
C)~a large coat enough D) a coat enough large
. The atmosphere is as much a part of the earth as its
soils and the water of its lakes, rivers and oceans.
A) are B) is
C) do D) has

the flood, the ship would have reached its destination.

A) In case of N S B) In spite of /.(,%
C) Because of Eb D) But for &Z&

language and culture.

A) inquiry B) investigation
C) input D) insight

. The branches could hardly the weight of the fruit.
A) retain B) sustain 64\2

C) maintain ?’]}‘% D) remain 4%}\5 /‘n%?%

my homework, 1 went out and had a drink:

. The excursions will give you an even deeper into our



Model Test 1

5.

A

CHA0.

L.

4, &12.
C& 13:

A) Finishing B) Being finished
C) Having finished = ¢ D) Finished

a certain doubt amig the students as to the necessity
of the work. ¥

A) There have B) There existed
C) It existed D) It had
I didn’t know what to do but then an idea suddenly to
me.
A) appeared B) occurred
C) lighted D) happened
However much , it will be worth it.
") the watch costs \B) the watch will cost
C) does the watch cost D) costs the watch

He left the house in a hurry with the door

A) to unlock B) unlocking

C) to be unlocked D) unlocked

I can’t what he was hinting.

A) figure out B) carry out

C) look out D) come out

We are ignorant of the degree his experiments have

supplied forceful evidence for his idea.

A) at which - B) in that
D C) to which D) for which
A <_14/ The Olympic Games can its history back to 776 B. C.
TV A) chase B) follow
C) track D) trace
97 ® 15. These figures can not be with the results obtained in

previous experiments.
A) constant B) consistent

C) conventional D) convenient

2
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b 19.

'k 20.

?/'21.
/

@22.

D 23:

24.

. Please let me know if you need any help. I’m only too willing

anything for you.

A) doing B) not to do
C) of doing D) to do
. Do more exercises you will improve your health.
A) and B) then
O if D) in order that

. When writing about controversial topics, some authors try to be

without favoring either side.

A) impressive B) reflective
C) objective D) persuasive
Gettysburg was the of the most important battle in

the American Civil War.

A) view B) scene
C) sight D) landscape
It was so incredible to her that I should have made the highest
score in the class she was trying to test me again.
A) that B) when
C) therefore D) as a result
Alone in a deserted house, he was so busy with his research
work that he felt lonely.
A) nothing but B) anything but
C) all but D) but for
Mary people have applied for the position,
A) empty B) bare
C) vacant D) blank
, he knows more about the subject than his teacher.
A) As student B) As is be a student
C) A student as he is D) Student as he is
You are supposed everything ready by now.



Model Test 1

25.

[’XPV 26.
P 27,

/k 28.

é’ 29.

A) to get B) to have got
C) getting D) having got
The doctor me that the discomfort would disappear in

a couple of days if I followed his advice.

A) assured B) ensured

C) confirmed D) confessed
Scarecely such a moving novel.

A) have I ever read B) I have ever read
C) I read D) read 1

She will have to find somewhere else to work, for she can’t

this loud noise any longer.

A) come up with B) keep up with
C) catch up with D) put up with
Last year, Peter earned his brother, who has a

better position.
A) twice as much as B) twice as many as
C) twice more than D) twice as more as

Children were fascinated to see that the magician made a big

and tall elephant in a flash.
A) fade B) vanish
C) die D) yield
. The situation in the region is so complex that no one can predict
its
A) sequence B) event
C) procedure D) outcome



REXBNEERRIC < \*

EREMM

. [%%]1 D
[N A BA AR L.

Lf##7 Inor BH“BAR”, A7 F4 4] . none — ik FE EiFEK
BiE, AAMEEE . never JREIE, ARBBAEEBZMN. ERE
£H no, A HFAIEEIE B two. fingerprints,,

. [&ER) A
CFEOIREBAE B REIK, BERE T X—H.
L7 YA RE% B enough 78] I B . enough B HifE 2 5L
Bl E, — A FHBmiAZE. Bk, A BIER.

. [EEY A

GESCIR SR HBR A — B4, BIAE , 4398 Je 030 300 36 0 0 3 o
B K A 2 b 3K Y — &P 4> o

[##7 Jas much---as WH oo —B”, F—1 as 5| —1F
HEEA NG, LB NER) E1E R soils and the water, iH
EEHAZPOER T LLES A IEH .40 :Small as it is, the ant
is as much a creature as are all other animals on the earth (R
R/, 55 8[R3R8 sh ¥ —4¢, B —FAEYD .

. [EEY D

GF SO AR R UK B35 AR Aok & MERT4K3K H i .

/@47 XIn case of : {RUN,J7— . In spites of: R, A(‘B\C =
BAREBE ., B%EHN But for(ERE), A5 But for flood 4
MF—NEBASLMH4 ., B0 :But for your help, we couldn’t
have succeeded in the experiment (ZE 2 & A REH B , FATHY 3L
BHRRERI.

. [E%] D

L3 3O 5 JL YK B0 K 2 (5 4R BB 58 IR 2 3th 28 AT T A9 38 & F1 3C
k.



Model Test 1

## 7 Jinsight . 7 28, WA T ## CH # into ). #l0: OHe
has given me an insight into Russian literature (ffi fif 3 %1 & ' #r
XEATHEATM) ; Dgain an insight into sb. ’s mind G &
A EA), inquiry: #[E], 2 . input: ¥ A , investigatiort; &
. :
. [&%R]1 B
CEXWWHEILF B RZRENEER.
[f# 7 Jsustain BHEKZ”, FEBERE . B0 :Our financial base
is stable enough to sustain the extra expenses (TR R LF 5L S
A AR E, B R X B ST ) . maintain: 4EFF, retain:
Y. AE. ACD=THAREEE.
. [E%] C
GEXMB e FKELEL G, 3 08 K.
[/ #7 JHaving finished B ITE /3 H M TR, RAHEREE
HESEZRT. B CTMIEH.
. [E%R]1 B
GEXI FXMTIEREBR LEM FAENBRITEE.
[##7] there be 54 ,BR T AT/ be Sh, @ ATRHEESH. I
A ; come, live, appear 4, f5|# : Once upon a time there lived
a king in China. B i There existed B “FETEE =+ AR
A it R EE. '
. UEE] B
GECVEER TN  REARET -1 EE.
[f##Hrt XIsth. occurs to sb. B H“FEAABE]T «-eoee ”, Bldn . Didn’t
it occur to you to phone them about it? (/e B A8 B phixX 4 FE
LT EIED.
10. (&%) A
GFE X xR L D EREE.
L ##% 47 J4E B however 5| BR8N A o, 38 7] A — MO R
Bf 2 B AE B, A A) ) R BB A — MR BEAE RS . ) 40 : How much
% G



AERENZERLRL - B

1L

12:

13.

14.

15.

16.

advice you give him, he does exactly what he wants (RN E R4
e b BB RITRED.

[5%] D

GEXMb ARSI TR B8,

(@ IX B R with 5| MM, —BABERXR: with
+& 18+ Bl RE MRS £ 0. FaERITER
A8 L, BT %40 unlocked.

[5%1 A

GEXIRAHEA M AEME.

[/ #7 Y8 T # hint BR“BER; 38R figure out: B B#E,
HE. AFESEE, carry out: 3£47, #1447 . come out: H I,
3. look out: L HEE. B.C.D ZHHAFER.

(%% C

D SC 3R AT A 5038 A 1) SE 50 BB 7E 22 K72 BE B 8 il ) AR SR 1L
EHE .

[## 7 Megree % 5 to H/ , BT to some degree, BH“7E
FEMEEL”, @ to ARRRIFHETES 7. # C TIEH .
[E%1 D

D 308832 £ /Y J7 52 7T L8 3 B /A JT R 776 4R

[t Ytrace B “IBH,BF”. BN . The rumour was traced
back to a journalist (X PMIREERXI —LHFEICES L.
chase 383K , B #F . track:iBEE.

[E%1 B

GEXLXEHF S RS R M RA T2,

[#&#7 Ibe consistent with: 5« 4H—3H , FF& 8 . Fl 40 . His
story is consistent with the facts (b IR E 5 F L HA).
constant: /S WTHY ; 18 44— A . conventional : 338 A9, % JL#Y .
convenient : 75 {8 i , 8 F| #9 .

[%%1 D

[FEXJNRAARBFTEFICHEERR. REFTEEIFRBF .

7



Model Test 1

7.

18.

108

20.

21.

[f##7Ya # only too BHAH“IR,JEH” . be willing to do sth. K
B & Rk

[EXR]1 A

CEIZHTREFT LA R T IROERE.

(@ Y8 T #3784 Do more exercises = if you do more
exercises. Hr %] )5 il % i and RS WE S . B0 Work
hard and you will succeed (flIRREZ S50 BAE I .

[&%1 C
OF X 14 W LA S R SR, — e RERFEW, SR
FAEfT— 7 .

Kf# #7 Jobjective: Z W i) . impressive: 43 N B PR ZIENR M.
reflective: S5 ), OB I ; B 1 . persuasive: A BLHR 1 9 5 3
FH. CHMFRME.

[£%] B

GEIB R EE R EEN RN — KBS .

[ @b dscene: GR B F A K4 & R /@, fn.
The scene of the novel is set in Scotland (% /)N 57 f ik 35 & 4=
T2, view . BILM ARG ; f . landscape: K,

[ExR1 A
[FECIRFERAEI LB T RELD M WRBEAASATBBT B
AR E R — K

[###7Y5a)H incredible &R “A A BiLA”,. “should have+ i
X BERRTER”. Aa KR sor-that 551,
[(%E%]1 B
GEIREREM—PAE—ITZHFREHTFICFHR
TAE, BT LAt — £t 3G SRR B 0

[f# 7 Janything but EA“BAER”, FFEBE . Hl0.His visit
to Paris was anything but a success (f i) B 2R Z F7 R AN .
nothing but :{X{¥, R A .all but: JLF,Z A% but for: BERE,
8 .

« 8
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22.

23.

24.

25

26.

[E%]1 C

GF S VR 2 A HR B X — 25 B ER AL,

Db X AR B AL . empty 8 B H XA RTY . Bl
an empty box(ZE & F) ., bare: Tl 5 £, K FHHY . BN . fight
with bare hands(FFF 2 £ M R). vacant . ZF M, K 5 H
i, Bltn.a vacant seat in a bus(A 3K Z%E Y25 BE) . blank.
EHEM,LFER . B :a blank sheet of paper (—FFH4E).
(%1 D
[FEXIREMER - BFE , HEXTFX -2 LEIMES
rZ,

(@R EX B2 as 5| FAiEBRE\EMN A, HIE KR RIE +as
+ Eifi +be. # EiENFHL R, WEL R . B0 Boy as
he was, he behaved like a girl (L B R ENBE . 2L HE A
8.

[EX1 B

GESIBIAE R 1L ARM I — VIR R4 .

7% #7 Jbe supposed to: R, BHAFF . by now BAH“BIHET, &
47, WL % i 5 A .

[ER] A

0% SCXEE A ) FARAE , i R IR VLA Z M8 = =K A3E
Bl&HEk.

[## 7 Jassure ; [i] »=+ - PRIE ; fE W f5 . 00 . 2 T assure sh.
that -+« 45 4 H, $1| &1 : She assured me that she would come.
ensure: R, 3%, #40.His industry and ability will ensure
his success (fth ) & 25 5 A4 BB K¢ 5 47 fth BE L 2h) . confirm . IE3E,
H . confess: 3.

[EXE1 A

3 SCXFR LT DB 2o Gt SR 1 /1N
[(BMISHEEEEXWHENEN, FATRE%X. XXAQ

#5 :never, seldom, little, nor, hardly, no sooner, not only.
©Qe
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27.

28.

29.

30.

[E%1 D

CEXMEAB/B AR AN AT L, BABFRAZATXE
B .

[###7 Jcome up with: $& H , 2 H . keep up with; 5 «eeere R EF—
B, catch up with:j8 F,# F ., put up with: 5%, 2%,
[(ER1 A

LSO 4F B A5 B WO A 2t B B Y 6 A , (B At BF BF RO BR A 5
.
[(BATIRRER RN, ARG R 53+ as much
(many)as, 749 B R AT 84 18 B much, RR# 4.
[%%]1 B
[EXILBREAMERLNBELRNAR-ERBERT
B ZF ISR RMBIIET .

L@ bT Yy o flash R “RIHE , BEE] 7, vanish: JH 25 . B BUAF 4 )
B fade: (FEIME; GFH)IES ., yield: 7 JBR.
[%FR] D

GEXIX X HR I ER A TETRES KRS
®=.
[/ #7 Joutcome : 455 . D TFF A R . sequence: FELE ; KT Il
. event:E {4, procedure:FEfF.

« 10«



